
2 

-(10
1+ 998

) =
 

15
0x

10
99

 =
 

164
850

 300 
S=

te
rm

 

+
 

last
 

term
) 2 

Sum
 to

 
the nh

 
term

 in
 

A
P is
 

giv
en

 by
 

n =
 

299 

+
 

1 =
 

300
 

n-1 3 897
 =
 

299
 

=
 

(n-
1)3

 =
 

998
� 101 

’9
98

= 101 

+
 

(n-
1)3

 

a =
 a +
 

(n-
1)d

 n 
nh

 
term

 of
 

an
 

A
P is
 

giv
en 

by
 

n 
ter

m 
a,

 

998
 

Di
ffe

ren
ce

 d =
 3 Fir
st 

ter
m 

a 
=

3 

.. 
A.P 

is
 

101
, 

104
, 

107
, ....
 

998 

998
, 

wh
ich

 

re
m

ain
de

r 

wh
en 

div
ide

d by
 

3.
 The 

low
est

 

and 

hig
he

st 

thr
ee

 

dig
it 

nu
m

be
rs are 101 and 
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